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Problema 1. (7 puncte) 

 

𝑎 = 4......................................................................................................................................(3p) 

𝑏 = 7 − 2√5 ..............................................................................................................................(3p) 

𝑏 < 𝑎 .......................................................................................................................................(1p) 

 

Problema 2. (7 puncte) 

 
√9𝑥2 + 36𝑥 + 36 = 3|𝑥 + 2| ......................................................................................................(2p) 

√9𝑥2 + 36𝑥 + 36 − |4 + 2𝑥| = 3|𝑥 + 2| − 2|𝑥 + 2| = |𝑥 + 2| ........................................................(1p) 
√𝑦2 − 6𝑦 + 9 = |𝑦 − 3| .............................................................................................................(1p) 

√9𝑥2 + 36𝑥 + 36  − |4 + 2𝑥| + √𝑦2 − 6𝑦 + 9 =|𝑥 + 2| + |𝑦 − 3| = 0 ............................................(1p) 
𝑥 = −2; 𝑦 = 3; ............................................................................................................................(1p) 

(𝑥 − 𝑦) = −5 ∈ [−
39

7
;  −

3

2
] .........................................................................................................(1p) 

 
Problema 3. (7 puncte) 

 

Desen corect.................................................................................................................................(1p) 

a)
𝐷𝐵 ⊥ 𝐴𝐶
𝐷𝐵 ⊥ 𝐴𝐴′

} ⟹ 𝐷𝐵 ⊥ (𝐴′𝐴𝐶)........................................................................................................(2p) 

b)𝑁𝑂 linie mijlocie în ∆𝐵𝐷𝐷′ ⟹ 𝑁𝑂 ∥ 𝐵𝐷′........................................................................................(1p) 

𝑁𝑂 ∥ 𝐵𝐷′
𝐵𝐷′ ⊂ (𝐷′𝐵𝐶)

} ⟹ 𝑁𝑂 ∥ (𝐷′𝐵𝐶) ...................................................................................................(1p) 

c) 𝐵𝐶′ ∥ A𝐷′ ⟹ 𝑚∢(𝐷′𝑂, 𝐵𝐶′ ) = 𝑚∢(𝐴𝐷′𝑂)..................................................................................(1p) 

∆𝐴𝐷′𝐶 echilateral
O mijlocul lui AC 

} ⟹ 𝑚∢(𝐴𝐷′𝑂) = 30° ..........................................................................................(1p) 

 

Problema 4. (7 puncte) 

 

a) 𝐶𝐷 = 16 𝑐𝑚 ....................................................................................................................(2p) 

b) ) 
𝑀𝐸 ⊥ (𝐴𝐵𝐶)

𝐸𝑃 ⊥ 𝐴𝐶
} ⟹ 𝑀𝑃 ⊥ 𝐴𝐶 ⟹ 𝑑(𝑀, 𝐴𝐶) = 𝑀𝑃 ...................................................................(1p) 

𝐸𝑃 =
24

5
 𝑐𝑚 ......................................................................................................................(1p) 

𝑀𝑃 =
6√41

5
 𝑐𝑚 ..................................................................................................................(1p) 

c)  
𝐸𝑃 ⊥ 𝐴𝐶
𝑀𝑃 ⊥ 𝐴𝐶
𝐸𝑇 ⊥ 𝑀𝑃

} ⟹ 𝐸𝑇 ⊥ (𝑀𝐴𝐶) ⟹ 𝑑(𝐸, (𝑀𝐴𝐶)) = 𝐸𝑇 .................................................................(1p) 

𝐸𝑇 =
24√41

41
 𝑐𝑚 ..................................................................................................................(1p) 


